
https://www.passapply.com/1z0-1071-20.html
2024 Latest passapply 1Z0-1071-20 PDF and VCE dumps Download

 

 

 

1Z0-1071-20Q&As

Oracle Cloud Platform Digital Assistant 2020 Specialist

Pass Oracle 1Z0-1071-20 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/1z0-1071-20.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

 

 

Latest 1Z0-1071-20 Dumps | 1Z0-1071-20 Exam Questions | 1Z0-1071-20 Braindumps                               1 / 3

https://www.passapply.com/1z0-1071-20.html
https://www.passapply.com/1z0-1071-20.html
https://www.passapply.com/1z0-1071-20.html


https://www.passapply.com/1z0-1071-20.html
2024 Latest passapply 1Z0-1071-20 PDF and VCE dumps Download

QUESTION 1

When you configure an application in Oracle Identity Cloud Service to be consumed by Oracle Digital Assistant for the
system.OAuth2AccountLink component, why do you need to have the RefreshToken grant selected? 

A. TheRefreshToken grant ensures that users will never have to sign in to the skill again after their initial login. 

B. You need a refresh token to force a successful logout of the logged in user. 

C. TheRefreshToken grant ensures that the System.OAuth2Account link component can refresh an expired access
token automatically because the access token has a much shorter lifespan than the refresh token. 

D. The RefreshToken grant ensures that a fresh access token is retrieved even if a user\\'s password in Oracle Identity
Cloud Service has changed, thus ensuring the user uninterrupted access. 

Correct Answer: C 

 

QUESTION 2

You have a use case that calls for users to enter a series of complex values. What would you do to ensure that users
enter these values correctly with the least effort? 

A. Create a composite bag entity for the types of values, and then add a regex entity to handle validation. 

B. Use a system.commonResponse component to aggregate and validate user input. 

C. Create a webview service which connects the skill to a web app that renders as a form and provides features such as
input validation and option buttons. 

D. Create a dedicated skill for collecting and validating input and pair it with a skill for processing the validated input. 

Correct Answer: A 

 

QUESTION 3

Which two statements are true the purpose of the compose bag entity item Out of Order Extraction property? 

A. It should not be used for String entity items. 

B. When set to True, an entity item value can be updated when prompting for a different entity item value. 

C. Only set to True, an entity item value can be updated when prompting for a different entity item value. 

D. Only when set to true can entity values be specific in any order in the initial user input. 

E. When set to True, an entity item cannot be resolve until a dependent entity item is first resolved. 

Correct Answer: CE 
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QUESTION 4

You are advised to implement an 80/20 split with training and test utterances. This means that 80% of new 

utterances harvested from the conversation logs should be used as intent training utterances and 20% for 

testing. 

Why is this a good practice? 

A. Adding 100% of user phrases to the intent would overload the model. 

B. Batch testing works more efficiently when there is a ratio of one test utterance for every five training utterances. 

C. By performing an 80/20 split, you are randomizing which data is added to the utterances. 

D. By keeping 20% for testing, you are able to test the model with data on which it has not been specifically trained. 

Correct Answer: A 

 

QUESTION 5

You are designing a skill for a railway company. You created a value list entity (StationEntity), which is the list of all
possible train stations To resolve an intent (Routelnfolntent), you need to determine whether the user is asking for a
route which is either to a station or from a station. Which statement describes the most robust and efficient approach for
extracting this information from the user input? 

A. Create a value list entity called ToFromEntlty with values of "to" and "from" and with appropriate synonyms for each
value. Create a value list called DirectionStation and add ToFromEntity and StationEntity to this. Then, add
DirectionStation to the Routelnfolntent. 

B. Create two derived entities based on StationEntity. In one entity, set the preceding phrase to "to" (along with any
required synonyms). In the other entity, do the same but with the preceding phrase "from". Add both entities to the
Routelnfolntent intent. 

C. Duplicate StationEntity. In one version, prefix all of the train station names with "to" and in the other prefix with "from".
Then add both entities to the Routelnfolntent intent. 

D. Add StationEntity to the Routelnfolntent intent and then update the training data with phrases beginning with "from". 

Correct Answer: B 

Latest 1Z0-1071-20 Dumps 1Z0-1071-20 Exam
Questions

1Z0-1071-20 Braindumps

Powered by TCPDF (www.tcpdf.org)

Latest 1Z0-1071-20 Dumps | 1Z0-1071-20 Exam Questions | 1Z0-1071-20 Braindumps                               3 / 3

https://www.passapply.com/1z0-1071-20.html
https://www.passapply.com/1z0-1071-20.html
https://www.passapply.com/1z0-1071-20.html
https://www.passapply.com/1z0-1071-20.html
http://www.tcpdf.org
https://www.passapply.com/1z0-1071-20.html
https://www.passapply.com/1z0-1071-20.html
https://www.passapply.com/1z0-1071-20.html

